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COMMERCE
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Assertion (A) : Globalization is a process of global integration of products,
technology, labour, investment, information and even cultures.
Reasoning (R) : As a part of economic reforms in the country globalization is the result
of internal economic compulsions and external pressure of
international community.

Codes :

(1) (A) and (R) both are correct and (R) is correct explanation of (A).

(2) (A) and (R) both are correct, but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

2. Which of the following sector is not open for 100% foreign direct investment ?
(1) Oil refining (2) Power plants
(3) Airport development (4) Coal

3.  Read the following statements and find the correct option :
Statement — I : The 1991 industrial reforms exempted all industries from compulsory
licensing.
Statement — II :  Still there are a few industries under compulsory licensing.
Codes :
(1)  Only Statement — I is correct.
(2) Only Statement — II is correct.
(3) Statements — I and II both are correct.
(4) Statements — I and II both are not correct.

4. Match the items in Column — I to those of Column —1I :

Column - I | Column - II
a Demandgor packaged food i. Economic factor
b.  Strike in factory ii.  Social factor
[ ¢ Lower intefest tate iii.  Political factor
d. New production method iv.  Technological factor
Codes :
a b c d
(1) i S V¥ B \
2) i i i v

3) i i i iv
@ i iv i il
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5. Which of the following statements is true ?
(1) Rate of return on capital is Acid Test Ratio.
(2) Equity capital to fixed interest- bearing securities is a turnover ratio.
(3) Capital gearing is the ratio of equity capital to fixed-interest bearing securities.
(4) Input and output ratio is a measure of profitability.

6. A and B are partners in a firm who share profits and losses equally. They admitted C on
the following terms :
C should bring ¥ 12,000 as capital and I 8,000 as goodwill. New profit sharing ratio of A,
B and C will be 2 : 1 : 2, respectively.
A and B will share the goodwill in which of the following ratios ?

(1) 3:4 2) 2:3
3 2:1 4 1:3
7.  Match the items of List — I with those of List — II and choose the correct code :
List - I List - 11 /

a. Material Cost Variance i. Actual Time (Standard Rate — Actual Rate)

b. Material Usage Variance ii. Standard Price (Standard Quqlntity — Actual
Quantity) P

c. Labour Rate Variance iii. Standard Material |Cost — Actual Material
Cost / |

d. Labour Efficiency Variance iv. Standard Rate (Standard Time — Actual
Time) h ¥,

Codes :

a b c d

(1) it i ii iv

2) ii i iv il

3) i il i iv

4 i i iv i

8. If sales of a firms are ¥ 74 lakh; variable costs ¥ 40 lakh; fixed costs ¥ 8 lakh, then
operating leverage of the firm will be
() 1.87 (2) 1.31
(3) 251 4) 3.27

9.  For the following two statements of Assertion (A) and Reasoning (R), indicate the correct

code :

Assertion (A) : High initial price with heavy promotional expenditure at early stages
for selling new products is justified.

Reasoning (R) : Demand for new product is likely to be less elastic at the early stages
of market development.

Codes :

(I) (A) is correct but (R) is not correct.

(2) (A) is not correct but (R) is correct.

(3) (A) and (R) both are correct.

(4) (A) and (R) both are not correct.
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10. Match the items of List — I with those of the List — II and indicate the correct code :

List - I List - IT
a. Producer’s equilibrium range i. Leon Walras’s approach
b. Possible input use ii. Alfred Marshall’s approach

New price equilibrium after change in iii. Isoquant curve
demand is set through price adjustment

d. New price equilibrium after change in iv. Ridge lines
demand is set through quantity adjustment

Codes :

a b c d
(H i i i v
2) i v i iii
3) iv il i ii
(4) iii i iv i

11. Gossen’s second law of consumption is based on which combination of the following
assumptions :
L Rational Behaviour of consumers
II.  Cardinal measurability of the utility
III. Comparability of the utility
IV. Desire for attaining satiety
Indicate the correct code :
Codes :
(1) I I 11
2 1o m 1
3 I I 1v
4 I 1m 1v

12. Perfect competition cannot be distinguished from monopolistic competition as per which
combination of the following features of the market :
(a) freedom for entry into or exit from the market.
(b) level of knowledge of the market.
(c) number of buyers and sellers in the market.
(d) nature of goods bought and sold.
Indicate the correct code :
Codes :

() @ (@b (@
2) b (© @
3 @ @b (©
@ @ (© @

13.  Which one of the following is not the probability based sampling technique ?

(1) Cluster sampling (2) Stratified sampling
(3) Snow-ball sampling (4) Multi-stage sampling
Paper-II1 6 J-08-16
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14. Read the following statements and choose the correct code :
Statement — I : In statistical hypothesis-testing, null hypothesis states that there is a
difference between population parameter and sample statistic.
Statement — II : The two-tailed test in hypothesis testing is a non-directional test.
Codes :
(1) Both the statements are true.
(2) Both the statements are false.
(3) Statement — I is true while Statement — II is false.
(4) Statement — I is false while Statement — II is true.

15. Match the items of List — I with the items of List — II and indicate the code of correct

matching :
List - I List - II {
a. Regression coefficient of variable Y . (Mean of squares between sample groups)
on X variable L (Mean of squares within.sample groups)
b. Value of Chi-square Y X-X) Y-V )
il. d =
. - % ¢
c. F-ratio for ANOVA —E)?
iil.
/ \ |
. i X Y i=. £ =
d Coyarlance between and O BNY &
variable % B
£k 757
Codes :
a b c d
(1) i i i iv
2) iv di il i

3 i iv i i
4) i iv il i

16. If the two regression lines are as under :
Y=a+bX

X=C+dY
What is the correlation coefficient between variables X and Y ?

(1) fbe 2) Aac
(3) fad 4) +/bd

17. The tendency to perceive another person as belonging to a single class or category is

known as
(1) Stereotyping (2) Halo effect
(3) Attribution (4) Assimilation
18. Which of the following is not a feature of Weber’s ‘Bureaucracy’ ?
(1) Hierarchy (2) Division of work
(3) Official rules (4) Personal relationships
Paper-II1 8 J-08-16
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19. Match List — I with List — II

List - I List — II
a. Matrix Design i. Project structure as superimposed on a functional
structure.
b. Network Design ii. A temporary network of companies that come

together quickly to exploit fast-changing
opportunities and share skills, costs and markets.
c. Horizontal Design iii. Teams are used to manage everything.
d. Virtual Organisation iv. Totally abandoning classical, hierarchical and
functional structure of organization.

Codes :
a b C d
(H 1 ii i iv

2 i iv i i
(3) i i iv i
@ i i iv il

20. Which of the following is exercised during the operation of programme ?
(1) Feed forward control (2) Feedback control
(3) Static control (4) Concurrent control

21. Assertion (A) : Publicity is a non-personal stimulation of demand for a product by
obtaining favourable presentation in media that is not paid by the
Sponsor.

Reasoning (R) : In strict parlance, publicity does not form a part of communication mix
because it is not paid for, its appearance is not always certain, and its
presentation is not programmed.

Codes :

(1) (A)isright and (R) is wrong.

(2) (R)is right and (A) is wrong.

(3) Both (A) and (R) are right and (R) explains (A).

(4) Both (A) and (R) are right and (R) does not explain (A).

22. The difference between the prospective consumer’s evaluation of all the benefits and costs
of an offering and perceived alternatives, is known as
(1) Customer perceived value
(2) Total customer benefit
(3) Total customer cost
(4) Customer expected value

23. Inthe ‘decline stage’ of the ‘Product Life Cycle’ sales decrease due to
(a) technological advances
(b) shift in consumer tastes
(c) increased domestic and foreign competition

Codes :
(1) (a)only (2) (b)only
(3) (a)and (c) (4) (a), (b) and (c)
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24. Which one of the following denotes performance quality of a product ?
(1) Level at which the product’s primary characteristics operate.
(2) Degree to which all produced units of product are identical and meet promised
specifications.
(3) Product’s expected operating life under natural conditions.
(4) Probability that the product will not fail within a specified time period.

25. PBT of a firm has increased by 40 percent as a result of 10 percent increase in sales,
operating leverage of the firm is 2. What will be financial leverage of the firm ?
(1) 4 (2) 20
3 2 4 1

26. Indicate the correct combinations of methods for determining the cost of equity capital
from the following :
L. Earnings yield method
II.  Operating income yield method
III. Dividend yield method
IV. Dividend yield and growth method
Codes :
(1) I I 11
2 o m 1
3 I o 1
4 1 1m 1

27. From the following indicate the correct combination of the cash management models :
L. Modigliani-Miller (M-M) model
II.  Miller-Orr (MO) model
III. Ezra Soloman Model
IV. Baumol Model
Codes :
(1 I I 11
2 I 1 1v
3 1 III
@4 I 1v

28. Which combination of the following represents the assumptions of Modigliani-Miller
approach for capital structure decisions ?
I Capital market is perfect.
II.  All earnings are distributed as dividends.
III. Risk classes are homogeneous.
IV. Corporate taxes do exist.
Indicate the correct code :

Codes :
(H 1 1V
2) 1 1 11
@)y 1 1 T 1V
4 1 1m 1V
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29. Choose the correct sequence of steps of job analysis :
(a) Review relevant background information such as organization charts and process
charts.
(b) Develop a job description and job specification.
(c) Select representative positions.
(d) Decide how the information is to be used.
(e) Actually analyse the job.
(f)  Verify the job analysis information

Codes :
() (b, (a), (e), (), (c) and (d) (2) (0, (b), (e), (), (d) and (f)
(3)  (d), (), (¢), (e), (f) and (b) 4) (), (b), (), (d), (e) and (c)

30. Choose the correct sequence of steps of training and development process :
(a) Evaluation
(b) Validation
(c) Need analysis
(d) Instructional design
(e) Implementation

Codes :
() (d), (b), (a), (¢) and (¢) (2) (¢, (b), (d), (¢) and (a)
(3) (a), (b), (c), (e) and (d) 4)  (c),(d), (b), (¢) and (a)

31. Under the Industrial Disputes (Amendment) Act, 2010, the total number of members of
the Grievance Redressal Committee shall not exceed
(I) Four (2) Six
(3) Ten 4) Twelve

32. Which of the following is/are correct with respect to deductions by way of fines under the

Payment of Wages Act, 1936 ?

(a) An employed person can be fined only for acts and omissions which are specified in
a list approved by the state government or the prescribed authority.

(b) The total amount of fine which can be imposed upon a person in any wage period
must not exceed 3 percent of the wage payable.

(c) No fine can be imposed on a person who is below the age of 18 years.

(d) No fine can be recovered by instalments or after the expiry of 90 days from the day
on which it was imposed.

Codes :
(1) (a)only (2) (b)and (c)
(3) (a) and (b) (4) (a) and (d)

33. Read the following statements and choose the correct code :
Statement —1 : A rise in SLR directly reduces credit creating capacity of Banks.
Statement —2 : Changes in SLR, like CRR, produce direct and immediate effect on the
supply of money and credit.
Codes :
(1) Both the Statements are correct.
(2) Statement — 1 is correct while Statement — 2 is false.
(3) Statement — 2 is correct while Statement — 1 is false.
(4) Both the Statements — 1 and 2 are false.
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29. Y foeITor & <RON & Wt A T TI HIT
(a) T T 3R AHAT AIE Y WG Tefa Teelt o bl el S |
(b) o faeroT 3R ®E v forepiaa T |
(c) VAT Ugl T =5 AT |
(d) T o &1 fob T ST ST e e St
(e) I H ARATIH [ORATOT HEAT
(f) I TITCIToT GEmT T G HET
& :

(1) (b), (a), (e), (), (c) R (d) 2)  (c), (b), (e), (a), (d) R (D)

3)  (d), (a), (©), (e), () R (b) @ (@), (1), (D, (d), (e) 3 (c)
30. TTSTeIUT ST 9o i Uishar o =RUT o Wal ShH Sl Td hils(T

(a) HoAHA (b)  THTOTIHIT

(c) eI TTeAToT (d) ITIRYMCHSE MHTT

(e) HETEIT

Eg\Td‘:

(D) (@), (b), (a), (e) R (c) 2) (0, (b), (d), (e) R (a)

3) (@), (b), (c), (e) 3N (d) @ (0), (d), (b), (e) 3R (a)

31. it foems (@emee) aifufem, 2010 & o fFrhad Harvr 9fmfd & 95wt S FoT 9@
frfefea o @ fad a1fus =2t & |l 2
() =} (2) ®%
(3) =4 4) IE

32. TG WS ufEH, 1936 % 3TF SHM % B9 § weldl & o § Efeiad § ¥ SiF Qs

T & ?

(a) AT =l W FaeT U8 $ed 3R T % TOIT STHHT ST ST 9ehal €, ST 59 TRER AT
TN TTEeRtoT g1 STAiTed g 7 e 8t |

(b) Tt Ao ety B fhdl St WX oMU ST e ool STAT 31 $eA TH, 3 oI5 & 3
i § e Tel g Ty |

(c) 18 a9 ¥ Y IH & AT UR HIg STHMT F&l THIET ST Fehell & |

(d) g ot STHIT TSRl GRT AT ST ST ST o 571 9 90 137 &t T o o1% 9ot el o

ST EHATE |
@:
(1) a (a) (2) (b) 3R (c)
(3) (a) 3R (b) (4)  (a) 3 (d)

33. fAfeiEd et @i ufgd 31 el % T =F9+ it :
FUT -1 : UTAUASR, H ghg, Sl B! TR Yo 79T S Tede] T F 027 31 € |
FUT —2 :  WLARIR, H AT TIUAIR, H IRl | &9 3R TG A YA W I 3R
TehIcA TS T8 € |
&
(1) S %29 T E |
(2) HE - | TEl T, STeih FUT - 2 TAd ¢ |
(3) FEUT-2 WE T, A FIT— 1 ToId & |
(4) FE—1FA 2 TAAE |
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34. Match the items of List — I with those of List — II

List -1 List - II
a. Locally operated financial institutions i. Community Development
that empower employees to make local Bank
decisions to serve their customers and

partners.
b. Regulated banks that provide financial ii. Offshore Bank
services and credit to under-served
markets or population.
c. Banks that prioritise the transparency iii. Community Bank
of all operations
d. Bank located in jurisdictions with low iv. Ethical Bank
taxation and regulations {
Codes :
a b c d
(1) i v i il
(2) i i v i
3) iii i v il
4) iv i il i

35. If you need to transfer money to another person through internet, which of the following
method you could use ?
(1) Financial cybermediary
(2) Electronic cheque
(3) Electronic bill presentation and payment
(4) All of the above

36. Which of the following methods are qualitative methods of control of credit creation
practiced by the Reserve Bank of India ?
(a) Open Market Operations
(b) Variable Reserve Ratios
(c) Credit Rationing
(d) Margin Requirements

Codes :
(1) (a) and (b) (2) (b)and (c)
(3) (c)and (d) (4) (d)and (a)

37. Assertion (A) : FEMA has facilitated the growth of India’s export and has helped in
procurement of imported raw materials and capital goods required for
rapid industrial growth.

Reasoning (R) : It is evident from the provisions of FEMA that it has greatly relaxed
the conditions for dealing in foreign exchange.

Codes :

(1) (A) is correct but (R) is not correct.

(2)  (A) and (R) both are correct and (R) is the correct explanation of (A).

(3) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(4) (A) and (R) both are incorrect.
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34, A - [ A H G — 11l T_1 & A1 AT DT

T -1 =t - 11

a. HEE T Y yEied g g, S eeaiE w0 GueE faee S

A U AR WHRRI B Far HA & fow wEg

T o it wifer e SRt €
b. fafmaftd 5, St QR SR a1 gou i foxda o i, w5

3R AE TS AT & |
c. %, ST T FECT H URGHIET ®f WHSA A € | iil. THIE 9%
d. =9 FUW SR T e R § fem o iv. AT 3% ¢

a b c d
(H 1 iv i i
2) i i v i
3) iii i iv i

4) iv i i i

35. I MU TS & AT W THY AT € BT SROT AT & Al 3N ftated § ¥ g
Tl T 3TANT T Tl € 2
(1) fodia arger geae (2) IO O%
(3) ot forel REIehRoT 3R 9T (4)  Sugerd |l
36. frefafie vgfaal & @ ®F & sid wRdE R9d 96 3R &9eR § o SH oot 9@ o
[ERENEEARI VI Col rATS
(a) Y ISR Fae (b) uRadl TRTT ST
(c) g T (d) woH Tavgedn
&
(1) (a) 3R (b) 2)  (b) 3R (c)
3) () 3R (d) 4)  (d) =R (a)
37. AfWMEUA (A) : URSTAT (BHN) 9 9RA ¥ (T & Tota § o g€ §, ey die sfEifts
g?%ﬁwmmwwﬁmaﬁsﬁﬁuﬁﬁw
|
a& (R) : TET o Wl § 98 T ¢ o 39 3Tl fosel q8T o HeAeer i vt °
TFEAAAN T |
&
(1) (A) T, dAfepa (R) T & |
(2)  (A) 31T (R) THT Tl & 3T (R), (A) F Tel AT E |
(3)  (A) 3T (R) TAT W&t &, AT (R), (A) T T&l e Tal ¢ |
(4) (A) 3T (R) I AT E |
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38.

Match the items of List — I with those of List — II with regard to International Monetary

Fund :

List -1
a. Stand-by Arrangement L
b. Poverty Reduction and Growth ii.

Facility (PRGF)

List - IT
Enhanced Structural Adjustment
Facility (ESAF) was replaced by this
scheme.
Exceptional balance of payments
problems arising from a sudden loss
of confidence in the currency.

c. Supplemented Reserve Facility iii. Financial crisis causing capital
(SRF) outflow on capital account of /
balance of payments. {
d. Contingent Credit Line (CCL) iv. To meet balance of paiyments f
difficulties (most commonly l}SGd
facility). \ .
Codes : ’
a b c d
(1) iv i i
(2) 1iv i i il
3 i i 1 v
4 i iv i iii
39. Arrange the following in the correct sequence on the basis of chronological order from the
earliest to the latest :
(a) World Trade Organization
(b) Dunkel Draft
(c) The Uruguay Round
(d) General Agreement on Trade and Tariff
Codes :
(1) (a), (b), (c) and (d) (2)  (d), (¢), (b) and (a)
(3)  (b), (), (c) and (d) (4) (0, (d), (b) and (a)
40. Which of the following are the features of the Foreign Trade Policy 2015-2020 :
(a) Served From India Scheme (SFIS) has been replaced with Service Export from India
Scheme (SEIS)
(b) 5 different schemes have been merged into a single scheme namely Merchandise
Export from India Scheme (MEIS)
(c)  All duty credit scrips issued under SEIS would be non-transferable.
(d)  All duty credit scrips issued under MEIS would be fully transferable.
Codes :
(1) (a), (b) and () (2)  (a),(c)and (d)
(3)  (a), (b) and (d) (4)  (b), (¢) and (d)
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38, ST T e 3 e o e — 1 e — 1 e i e H

et -1 e - 11
a. TeaTE FawEn i 39d  HeAe OEESE giaer
EUAUTE) & F W T8 FaT Hl
TR
b. TWEl TEMT R Ughg H FOET il GET H TAEE Gvard B FH G S
(. 3T T U TH Sl aH Ao Wi fafre
e

c. ITIYNA TRTNA GOWT (TH.ATRUE) il T §e ¥ IO A gqer F
IS oRET WX B ATt i STl {
d. HieSie e T (I T iv. A §IeH ® HeAgal B G HAT
(3T T T TR o)

&
a b c d
) iv i i il
) iv i i i
3) i i i v
4 i iv i i
39. TS § 37T O & HIoThy & MUR W FEfeATEd st Tl 69 § o7y

(a) fova =R Greq
(b) THA IR

(c) STAIR

(d) =R 3R IEEE W AHE WL

&

(1) (), (b), (c) 3 (d) (2)  (d), (c), (b) #R (a)
3)  (b), (a), (c) 3R (d) @) (0), (d), (b) ¥R (a)

40. fafefea ® 9 faser =R AT 2015-2020 S 9 formarnd € 2
(a) WIS WA Ieam WY (CEUEAETH) & ©F W A0 THUe WE el @hE
(THE.IETH,) TE T |
(b) 5 fafi=T SHmT 1 AESES TSI Y $edr Wi (TH.E.3MEUH,) THE Uhdl &h| o
forerg frar T & 1
(c) TUHEIMETH. o 3TElA ST ol T¢ Tt Y[oeh ST Uferdl STeeaiaRoiig &l |
(d) TUHZIMETH. & 3T SR i TS Tt Y[osh STHT Urarat YuTd: S&diaRoig & |

7=§Z :
(1) (), (b) &R (c) (2) (a), (c) IR (d)
(3) (a), (b) 3R (d) 4)  (b), (c) R (d)
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41. Choose the correct code indicating the strategies employed by companies against hostile
takeover :
L. Green mail
II.  Poison Pills
III. Yellow Crown
IV. Golden Parachutes
V.  Pac-man Defence
Codes :

(1) LILIV,V 2) LILIIL IV
3) ILUOLIV,V @ LILO,V

42. Which of the following are not models used for evaluating the performance of Mutual

Funds ?

L Sharpe Model

II.  Miller Model

III. Lintner Model

IV. Jenson Model

V. Treynor Model

Codes :

(1) LI (2) LIV,V
(3) LI 4) IL 110

43. ‘Lev and Swartz Model’ belongs to
(1) Social Accounting
(2) Depreciation Accounting
(3) Human Resource Accounting
(4) Inflation Accounting

44. Rematerialisation of securities is meant by
(1) Repossession of securities (2) Reholding in Physical form
(3) Repurchase of securities (4) Restoring the lost right

45. Risk with reference to investment is meant by
(1) Excess of possible return over expected return
(2) Reverse variability of possible return to expected return
(3) Excess of inflation rate over possible return
(4) Incapability to earn market rate of return

46. Which of the following are the components of capital market ?
L Government Securities Market
II. Commercial Bill Market
III. Industrial Securities Market
IV. Treasuring Bill Market
V. Long-term Loans Market
Codes :

(1) LILIV,V 2) LI,
3 LILV 4 LILILIV,V
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41.

42,

43.

44.

45.

46.

J-08-16

fagugut sttt o fovg -l §RT WeRt TOTITET S el Fet IS T 99+ iU

[ U= dA

1. w@EEeH ued

. I SIS

IV. Tiee REE

V. % ferg

0 o

() LILIV,V (2)
3) ILILIV,V (4)

L 1L, 1L, IV
LILIOL V

TAfATEd | 9 i ¥ IRERS Ml (RFeTel ®U) % Hedich & AT 6 ST Ufaey (Hieer)

T &2

[ 99 ufaey

II. Hor gfaew

. e uiaeq

IV. Sa ufqeq

V. R ufaEs

WS :

(1) LILII 2)
3) LII 4)

(1) IS a9 2)
(3) TS GO TEieT d (4)
Aol & RAeREetEsem & 319 &

(1) wfersferat bt grsfeet e 2)
(3) wfefeat 1 gAsha AT (4)

Tt & gy o Sifew 9 e

LIV,V
I, 11T

B o o
T-ThifT oRaish o

T HifcTsh ©T H U BT
BT A BT G2 LT

(1) VST UedTd o SO TeTTad Yo b1 ST
(2) VAR UedTg § AT Uedrd ol faadid aRaaaeierar

(3) HEI-TRITT T HT TRATET Fear TR ST

(4) SR oI ST ST e H STTee

fefefad § ¥ %9 9 IS 9K 6 926 ¢ 2

[ TR oy aeR

I s e

L. 3R niafd a=m

IV. SR et IR

V.  SEeele 07 I

e

(1) LIOLIV,V 2)
3) LILV (4)

21

L IL III
LIL O, IV, V
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47. Match the items of List — I with those of the List — II and choose the correct code :
List -1

List - IT

Process of admitting securities for trading i. Jobber

on a recognised stock exchange

Device adopted to make profit out of the ii. Badla Transaction
difference in prices of a security in two

The facility to carry forward a transaction iii. Listing
from one settlement period to another

An independent broker who deals in iv. Arbitrage
securities on his own behalf

d
1i
i
iii
ii

48. Match the items of List — I with List — II with regard to consumer behaviour influencing

ii. Perce
1i1. Econo

d
v
ii
iii
i

List — IT \ ‘f

1. Status
tion - =

F,
Fa

ic condition (
1v. qu;ﬁmic strata

49. A conflict between Dominos Pizza and its franchises is to be referred to as

a.
b.
markets.

C.
d.
Codes :

a b C
(1) i iv 1
(2) i iv il
3) ii i iv
@ iv i i
factors :

List -1

a. Personal factor
b. Cultural factor
c. Social factor
d. Psychological factor
Codes :

a b c
(1) it i ii
(2) iii i v
3) iv 1 i1
@ iv i il
(1)  Vertical conflict
(3) Lateral conflict

50. Straddle positioning uses :

(a)
(b)

Codes :

(1
3)

Paper-I11

Point of parity

Point of difference

(a) only

Both (a) and (b)

(2) Horizontal conflict
(4) Bi-lateral conflict

(2)  (b)only
(4) Neither (a) nor (b)
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47. A — 13 TR A G — 110 781 § eI i U el e 1 98 HisT
et -1

d.

)
2)
3)
“4)

it - 11

Tordll T o TR fautor H sRa-faskd v i SR

TfTfcral T SErRT S i UshaT

3 AR A wfayfd & godt § SRR W AW il Seel 9

s e F o

fdt oFeT N UH Weome IFET ¥ TE il gEEA

37Ty T o ST T grerr

TF @I Felel S ST A ¥ Wit v, SRS

a
iii
iii
ii
v

b
v
v
i
iii

F- T AT T |
wE

c
i
il

iv
i

d
ii
i
iii
1i

48. IUERT AR Hl TS A aTe] HRBT & G H galt — [ & BT 0 gt — 11 & 7G1 &

Hferd i :
et -1

a.

C.

ERIESEaACItC
b. HIEHIaH HRE
TS HREH

d.
T

(=N

(1
2)
3)
“4)

EEICRIEENEarED

a
iii
iii
v
iv

:y.‘.y_a.p.‘.o-‘

111

c
ii
v
ii
il

d
v
ii
iii
i

it - 11

jii, Ao fea
TR T

\/

‘_“

49. < fussT iR ST Sharestt & d g % <oHd S el ST &

ey
3)

50. dSt-Ae st Refa o =T fopar sar €
T T 65
3 = g

(a)
(b)
R .

(1) %a (a)
(a) 37 (b) TAT

3)
J-08-16

e TR
19 TR

2
4

()
“4)

23

et Zetr
Tg-uTedtg <he

Fa (b)
(a) 3R (b) HE Tel
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51. Assertion (A) : Marketing is anything you create or share that tells your story.

Reasoning (R) : Marketing is a way to connect what products and services you have to
offer with customers who want and need such product and services.

Codes :
(I) (A) is correct but (R) is not correct.
(2) (A) and (R) both are correct and (R) is the correct explanation of (A).
(3) (A) and (R) both are correct but (R) is not the correct explanation of (A).
(4) (A) and (R) both are incorrect.

52. Assertion (A) : Downward price pressure for a changing economic environment has

coincided with some long-term trends in technological environment.

Reasoning (R) : Through internet, buyers can get instant price comparisons and marketers
can monitor customer behaviour to tailor their offers to individuals.

Codes :

(1) (A) is right and (R) is wrong.

(2) (A) is wrong and (R) is right.

(3) Both (A) and (R) are right.

(4) Both (A) and (R) are wrong.

53. Which form of e-market place brings together buyers and sellers from the same industry ?
(1) Horizontal (2) Vertical
(3) Integrated (4) Inclined

54. Identify the universal buying motives from the following :
(a) Profit or gain
(b) Beauty and Complexion
(c) Fear of loss
(d) Competition and Struggle
(e) Comfort and Pleasure
(f) Avoidance of Pain
(g) Love and Affection
(h) Pride and Prestige

Codes :
(1) (@), (b), (¢), (d), (e) and (f) (2) (a), (c), (d), (e), (g) and (h)
(3) (a), (c), (e), (), (g) and (h) 4) (a), (b), (), (), (2) and (h)

55.  Which of the following is the ongoing process of systematically identifying, assessing and
developing organisational leadership to enhance performance ?
(1) Executive Planning (2) Role Planning
(3) Replacement Planning (4)  Succession Planning

56. Under the Factories Act, 1948, a “Young Person’ means the person who has not completed the
(1) Fourteenth year of age (2) Fifteenth year of age
(3) Eighteenth year of age (4) Twenty first year of age

57. Under which of the following gain sharing plans the employer divides the value added for
the period by total payroll expenses ?

(1)  Scanlon Plan (2) Improshare Plan
(3) Rucker Plan (4) Scalar Plan
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51. afW(A):%mm;%m@%,ﬁﬁmgﬁaaﬂﬁ%aﬁtaaﬁ%mﬁww
TATE |
T (R) : foque o7 Gl €, S 39 o1a 9 e ¢ o STueh! S SUMERS i 3/ 3R
FA el =T TSl 7 &, 578 39 Searg 39 el i |t 3T Savaehdl ¢ |
T

(1) (A)Fe &, AT (R) T ¢ |

(2) (A) 3R (R) THI Wl & 3R (R), (A) B Tl AT |
(3)  (A) 3R (R) T Tl &, wfehT (R), (A) o Tel a1 el ¢ |
4) (A) 3 (R) A T € |

52. AfHUA (A) : IEoId g ST URAYT & STENTH Sivd Sare, Wenfimes! el uiewr ¥ F5
Jrepiietes Tgtal & HaTd gan €
& (R) : IO 23§ ohell qA IAd i ol Y Fehal & 3HX [Tuurehal sifera
Tl § STEd g3 STHRRITS & g Bl AT H Thal § |

%2

(1) (A) TEIE 3R (R) T ¢ |
(2) (A) e ¢ 3R (R) W&l € |
(3) (A) 3R (R) T W€ |
(4) (A) 3T (R) T AT E |

53. TSI T &l I T ® Teh & SN F shell 3T skl i Teh T AT & 2
(1) &fas (2) =
(3) UTHEA 4) v

54, frAfeiEd T gHeA g WESHT i fafed ST :

(a) TN AT AT

(b) HiRF IR TT-FT

(c) EHH 9T

(d) wiqerr i deug

(e) Tiaem 3R 7S

(f) el &l e’

(g) TR 3R ST

(h) TiRa 3 ufaer

E T

(1) (@), (b), (c), (d), (e) 3 (D) 2) (@), (0), (d), (), (g) 3R (h)

3) (@, (0). (e), (D, (2) R (h) @ (@), (b), (©), (O, (g) 3R (h)
55. ffefed 4 ¥ ®F @ HE-HAERA 9gH % oY SreArers A9 S geared aih 9 TeaH

S, oA i Y [T i ol Fead Ufshar & 2

(1) HEUeTH ST (2) ot A
(3) e IS (4) SR AT
56. SR SAHMEH, 1948 3 T e AT | A0 U9 A 4 g, fe
(1) <ice a9 & g R =1 H & | (2) UsE a9 i Mg T R B e |

(3) JRCRETT D MG YA TRIBIEl | (4) THHIF 99 i g T &l B &l |
57. Tefafea § @ 59 e TS s o 3TeF e fmdr sty & gea afda &t o
-Fager & & T Taifid o € 2
(1) A s (2) AR A
(3) THRR A (4) ThoR dAFT
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58. When in any year the allocable surplus exceeds the amount of minimum bonus payable to
the employees, the maximum bonus payable by employer is
(1) 8.33 percent (2) 10 percent
(3) 20 percent (4) 25 percent

59. Who among the following propounded that the fixation of wages depends on the
bargaining power of workers/trade unions and employers ?
(1) David Recardo (2) John Davidson
(3) I1.B. Say (4) Karl Marx

60. Which of the following is the situation in collective bargaining when the parties are not
able to move further towards settlement because one party is demanding more than the
other party offers ?

(1) Impasse (2) Arena
(3) Rigid (4) Unmoving
61. Match the items of List — I with those of List — II
List - I List — IT — 4
a. Behaviourally i. Placing predetermined “percentages Pf
Anchored Rating employees int(}“severa‘], performance
Scales (BARS) categories. -

b. Forced Distribution ii. Anchoring a nimerical ratjlng scale with
method specific behavioural examples of good
or poor performance.f dj
c. Alternation ranking iii. Ranking employees frém best to worst
method on a particular trait, cheesing’ from the
highegt 4to the lowest, until all are
rapked. '

d. Paired comparison ivh l}anﬁing by pairing and comparing an

oy

method - ‘employee with every other employee.
Codes :
a b c d
(1) i i il v
2) i i i iv
(3) i i i v
4 i i i v

62. Assertion (A) : Developing countries, with a narrow range of exports (often of
primary goods) as their economic base, are particularly vulnerable to
economic exploitation.

Reasoning (R) : Critics of multinational corporations usually view it as an economic
and often, political means of foreign domination.

Codes :

(1) (A) is correct but (R) is not correct.

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(3)  (A) and (R) both are correct and (R) is the correct explanation of (A).

(4) (A) and (R) both are incorrect.
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58. g Tt o | STafed bt ST arell SR Ty, HHAMRET Bl 37 FAdT =9 i T T TaH
ST &, o e §RT 37 Sty S e §
(1) 8.33 ufaerd (2) 10 wfae
(3) 20 wfawT (4) 25 e

59. ffeiad # 9 T ufamied forar & T Aergl ot Famor =i, weige Tet 3R Fararst s
HieT viferd O R e € 2
(1) <fas e (2) S SfaeaT
(3) S& ¥ (4) FHTA qg

60. WM et § f=fofed 7 9 ®F 9 [efd gt &, o TR GHeid S S 3 Tal 9g o
&, Hifeh Tk TeIhN, THY URTRR ERT XU T IRl | 1feh ol Wi el & 2

(1) e (2) @
(3) atem (4) TaeE
61. Tt — I HRT ol Gl — 11 ol T3T & A1 FRIAT HITTT
e -1 e - 11 :
a. ORI &0 H UHs . asﬁmﬁa‘raﬁqéﬁaﬂﬁaq%wﬁmﬁ
HHHT T mﬁwaﬁ@ﬁm;{
(TR T,
b. oM o wefa i, aﬁawﬁmwa@aﬁ?ww
fome % fofore SR

[T U HET | ‘/
c. dHuH HUMHT B il R RN % IUR W FHHAREA F

q@ﬁ' dtﬂdiw |"|*"'1('|‘-| uwsll 9h‘-|||°h<'| h{|
% FE? HHAMET | HT HHHT 7 &

d. I O OB 1vh?§m ST AT il 3R foelt ey
! TS 3T FHHART o A T BT |

&<
a b c d
) i i il v
() i i i iv
(3) i i i iv
@ i i i v
62. AU (A): TR ST, T MR MUR & & A (am@i & TR T (W WATH
) Aed, AT TH0T % Uid oy &7 & Jag=eie eid € |
& (R) : TEET TEAN % GHSS GE; 9 oNige i U foRen WA %
TeTHITeh |1ET o ®7 § 2@d § |
C TN
(1) (A) Tl g, dAfehT (R) Tad & |
(2)  (A) 31T (R) TAT W& &, AfFT (R), (A) T T&l = Tal ¢ |
(3)  (A) 3T (R) TAT & &, 31T (R), (A) I Wl ARATE |
(4) (A) AT (R) I AT E |
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63. Which among the following is not a member country of NAFTA ?
(1) US.A. (2) Panama
(3) Mexico (4) Canada

64. Benefits of Capital Account convertibility are
(a) Awvailability of large funds to supplement domestic resources.
(b) Improved access to global financial markets.
(c) Improvement of financial system in the context of global competition.
(d) Ensured economic growth and development.

Codes :
(1) (a), (b) and (c) (2) (b), (c) and (d)
(3) (a), (c) and (d) 4) (a), (b), (c) and (d)

65. Asper WTO guidelines Agreement on Agricultural AOA is not considering which of following ?
(1) R and D and any other indirect support and assistance to farmers by the government.
(2) Direct payment to farmers.
(3) Least development countries do not need to make cuts.
(4) Cut back of domestic policies which directly affect production and trade.

66. What is a future contract ?

(a) Itis an agreement to buy or to sell a specified quantity of asset during a given period
at a spot price.

(b) Itis a marketable obligation to buy or to sell a specified quantity of a particular asset
during a period at a given price.

(c) Itis an option to buy or to sell a specified quantity of asset during a given period for
a given price.

(d) It is a marketable obligation to buy or sell a specified quantity of a particular assets
during a given period of time at a price to be determined in future.

Codes :
(1) (a)and (c) (2) (c)and (d)
(3) (b)only (4) (a)and (d)

67. In case a company which is publically listed on any European Stock Exchange wishes to
raise money from India; then this company may list its securities on Bombay Stock
Exchange. Consequently, the Indian investor can buy the securities in which of the
following form ?

(1) Bullion Derivatives (2) FDR
(3) GDR (4) ADR

68. The concept that
“Lack of resources often helps countries to become competitive” is related to which of the
following ?
(1) Competitive theory (2) Product life cycle theory
(3) Porters Diamond’s model (4) None of the above

69. Rent free accommodation provided to the government employees shall be taxable upto
(1)  20% of the employee’s salary
(2)  15% of the employee’s salary
(3) licence fee fixed by the government
(4) 10% of the employee’s salary
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63. Tr=fefEd 9§ 9 o 1 T.TE AT, (ATRT) 1 95 397 Tél & 2
() JTaT (2) TA™Er
(3) Hierhl (4) T

64. USTTA ST URAHRICTAT % N &
(a) ERE] T W G H & [0 Sgt My wh Socteddr
(b) afvass o IR o 3= 9ga
(c) Aok wfaerel & o | ot yomedt § gum
(d) gHfved et Tgtg 3T fawm

C YA
(1) (a), (b) 3R (c) (2)  (b), (c) 3R (d)
(3) (a), (c) 3 (d) 4 (a), (b), (c) 3R (d)
65. T=YLA ¥ fRenEe % AR F T, Gt R § Ffetad & ¥ fhg w faar 7@
fear ST & 2

(1) TR R M o1 3R 31T S 99T g 31T ST0cge] TednT 317 @

(2) Tohamt 1 Gl e |

(3) =gd %A faHiad 397 T Hd B Dl SEAYIHAT el Bl ¢ |

(4) =] A & T H U@ “H-aF”, ST IR 3K AR Teded T T &1 € |

66. e WiaRT FATE ?

(a) @ISR $Hd W TH 36 & SR IREUal & faFiee Aer &1 g a1 faska o &6
T |

(b) FE & TE HiFa W B ety % S oty aRgufy it i qnn & g o fossa o
oo A BT € |

(c) T8 L HiFd & AT 5 78 31ty & R uiuta & w0 ¥ faffese qen &t s =1 fosea
T T ahea € |

(d) Wi T [ia ot ST arell Hd T 999 & &9 | & TS 216 & SR aREurd &9 &
w0 4 fafafee e & 9 a1 fasrg w3 &1 fgovm g €

1»‘6‘:
(1) (a) 3 (c) (2) (c) 3 ()
(3) A (b) 4) (a) 3N (d)

67. IS TH QSIS BT ST FAUE Whey foafor § giaeg & ST 9Rd ¥ &7 ST 9ed! € af 39
HIAT T I Ul Sl T W uior § giaes T @ | hera®y YR e
freferfaa # @ foa w0 & ufayfaar g T & 2
(1) e o= (2) UHZLIR,

(3) SR (4) TR

68. “TTTYT T FHH WIF: I ol WA S H TETTh Bl &7 T8 Hehoo T bl Ty i 7 9 foha
g9
(1) wfeart faga (2) AR Siee w5k [agid
(3) TIIE €N (STEHE) Ufawy (4) S H ¥ HIE TR

69. TIHRT FHUART hl VT hra GorT TaTT o T AT i i G T
(1) HHIRT o o= & 20 U9 (2) HHAR % A BT 15 Uiderd
(3) TR R FEiRa oA 6 B (4)  HEEAR! % adq 10 ufdae
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70. Marginal relief on income tax of a resident individual was available under which section
of the Income Tax Act, 1961 for the assessment year 2015-16 ?

(I)  Section 86 (2) Section 88 E
(3) Section 89 (4) Section 87 A
71. Match the items of List — I with those of the List — II and indicate the correct code :
List -1 List — 11
a. Section 80D i. Pension fund of LIC
b. Section 80 CCC ii. Interest on loan taken for studies
c. Section 80 G iii. Health Insurance ]
d. Section 80 E iv. Donation F
Codes
a b c d
(H 1 i i v

2 i i i v
(3) ii i iv i
@ i il iv i

72. Income of the previous year is not taxable in the subsequent assessment year for which
combination of the following ?
L Income of non-resident from shipping
II.  Income of casual nature
III. Income of bodies formed for short duration
IV. Income of a person trying to alienate his assets
Codes :

() T 1 11
2 T 1 IV
@) 1 1 1V
@ 1 T IV

73. As per the Income Tax Act, 1961, rate of tax for long term capital gain for the assessment
year 2015-16 is
(1) 20% (2) 30%
3) 10% 4 25%

74. As per the Income Tax, 1961, capital gain arising from the sale of agricultural land owned
for 5 years in rural areas is
(1) Taxable as short term capital gains (2) Taxable as long term capital gains
(3) Exempted (4) Partly taxable and partly exempted

75. Capital expenditure on scientific research in a previous year, which could not be absorbed
due to insufficiency of profit in the relevant assessment year, can be carried forward for its
setting off upto

(1) Next assessment year (2) Five assessment years
(3) Ten assessment years (4) Indefinite number of assessment years
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70. 3TFHT AHIA, 1961 i HE 9T & T F-EROT 99 2015-16 H Tk et safamd &

IMIHT TR I D T & 2

(1) =RT86 (2) eRI8SE
(3) w89 (4) =T8T A
71. g — 1 AR B G — 11 T8T F 7 HifST ud T8t i i T Hi
e -1 e - 10
a. WRT80D i. STem ST FTg @ UvE B
b. &R 80 CCC ii. 37T B TOTT T Sh0T R AT
c. aI80G iii. T@TET A .
d. WRT80E iv. IF {
BT :

a b C d
(H i il 11l v
Q) i i i v
3) il 1 v 1l
@ i il iv i
72. frAfefEa & g TEisH 9 gd 9 Y 3T SIS 9ol HE-FERT 9 | Y 9 T8l el § 2
[ STe~RE 9 SAerd & o |
II. 3T @ & 3T |
Il 37Tl & felT S Gemet & 37 |
IV. U =fe bl 31T S 39 Graal sl STaaiad e & JaE | & |
e

() 1 1T 1
(2) 1M I IV
3 1 1T 1V
4 1 I 1V

73. IR AU, 1961 F TR W FH-FER0T a9 2015-16 & AT SrErpret= ST @ oY Y
HRE
(1) 20% (2) 30%
3) 10% “4) 25%

74. TEHT AUFEAH, 1961 F SUR W ATHT & | Ui a6t o foTd w@iiied § e arett 9 & fasea
TR B ST IS T
(1) 3TCUHIA ST o % &9 H H AT & |
(2) SR Gl o & &9 H T AT ¢ |
(3) IR |
(4) 3 HERT T I B JAHT ¢ |

75. TS S 99 H AR O W ST o5, T T 6l Bl % HROT el H-FERT a9 | e
et Tohan ST e, TUfeAREd A & T 3T & ST ST el & 2

(1) 3Tt FH-URoT 9y T (2) U YR 99t d%
(3) T FI-FEROT 9Nt dF (4) AT GE % F-URT aut g%
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